Today (e 5 MoAL Z/6 \

\J’ ‘ WGy ws%r\“@-\-:v/\ By

( %Qowt:\*( < Ca,Q,Cq ¢ Cenes)
Cravdord  Motsr o\ o

HRHRRRR

A

¥

e\ = Fs+ Swondord LS Oachyr |

[ [E 1o (]

9




tled= (3= {20 ]

O+O

2
So ™ i\\%'j\’ cd A A s [2]

Tle) = [‘Z’] MAE [*“]

Pty \

So A- 2 “E _l‘ M 3+D~0L0v0{
- '10 ( l ‘ frc s ¢ & T.

Dedow
T R =>R o s

T(X\) = A vectnr wrtn Fhe SOno—
Mavjv\A»\olL as X et ™ D

o oS e doecfion xS
1

() - [ 2]
T(x) = - x ,Igg S
“ (0 )

that v T Yoot R > x2
wocey of Y A [" ] Me e Rl
(11 11= < 1ol T




'T(Q \) T(éz >

!
A= |7 7] L,
AOENAN N
Ty =) = ) W{

e = T((D 7 [2)

Sc C—ﬂx\"-;h«l clecle.

~ |- ° ) = -
A [O H(l L XH () ol

= 3+

E t\ﬂ( e Stadad et <€-D Fre
——)—(‘ %P‘Olto“h\w? (o Tront dormats o~r

Tle:)
Z\ T 7 >% v codlects verthss OCTOS The \one

GB=K TIv)
/ " \}'
RS« 0 9\ / v
{ 0 . /

¥ 4
2 b3 /,
‘%\ 2> ™ colodeS veGhes - @ )

| 0° cbunagr- ¢ Loclewik ‘
St IO *\’] “’7 7 Cl




T R2oR* red
ect clocust | &
¢ "'J:-’)(
H.

!
AN
(D /

7

. 3;?«(




(R S

/\ADL’C\(\\C/ CKZS\\:-Q T

A NG~ PNTeN




S f+ left 2‘

ces (©+™) = —so(e)

(6_, Cos (e\

NG % leFry B<7 Ly P

_ﬁ Y= C_O$ (9 < %—\ =.§\“(G)
‘-E
C




